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1 ]'. Anal}zc the structure in Fig. 1. Use slope deflection meihod only. Draw the

moment diagram. E and [ are constant for all members. 30 %

[2]. Solve the structure shown in Fig.2. Use matrix displacerment method, with
E=30000ksi, I=1000. In**4(member BC and CD). Area of member AC=2.
In**2.The axial deformation of member BC and CD are neglected. Draw the

moment diagram. 30 %

[3]. Find out the axial forces of member BC and CE in structure shown as Fig.3. 20 %

{4]. Calculate the slope at left side of the joint B for the structure shown in Fig. 4. B

and I are constant for two members. Use unit load method or conjugate beam
method. 20 %
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Support C is roller
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Support A is roller

| " |

£

Y.

an | en | 6n 1
Fig.1 Structural Data Fig.2 Structural Data

Joint B Is Internal tHinge
Support C is roler
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Member A-C is a cable
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